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SECTION-I Out of the given alternatives in below given items,

General English Comprehension choose the correct one reflecting meaning.
Each of the following items is followed by alternative 6. An unmarried man :
meanings of which only one is correct. Choose the ' A) Bathelor
correct, . &
iser

1. To read between the lines : ®)

(A) to suspect © Master

(B)  toread carefully (O)  Free

(C) to understand the hidden meaning 7. Animals that can | ve on land and water :

of the writer (A) Aquahc

(D) to do useless things ®) e

2. We must 'give up' our bad habits : ik
(C) Amphibious

(A) create

(B) - (D) Hibernator

©) continue 8. A thing which easily catches fire :

(D) keep away (A) Fluorocert
3. The boy was 'knocked down' by a truck : (8) Inflammable

(A) washed away ( I tient

(B) removed

(C) crushed down : a a _

t n grass :
(D) pushed
Carni

4 One should not make 'irrelevant' remarks : () i o

(A) reasonable (B) Herbivoraus

(B) meaningful (C) Insectivorous

(C) not being to the point (D) Graminiverous

@) usefu 10.  Custom of having many wives :
5. Samdar Patel was 'iron man' : (A) Polygamy

(A) liberal man

(B) Monogamy
(B) a man of firm determination

(C)  angry man (C)  Bigamy
(

D) Matrimony

D) not caring
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Fill in the blanks in the following items : Section-ll / @S-l
1. At last he yielded____the temptation.

e Rl
(A)  for
B  about 16. g HH-T1 TET A=K B ?
© to W g
0 wih @ =g
12 Work hard_____you should fail. © b
(A) otherwise © i@ﬂ
17. el e & @ a9 9= @
(B) lest geh .
(®) or ) X
D) else ®) P
13. We sailed_____the river. ©) T
A . O &
® o B, W % aa o e R
©c & A @
(D)  down B) A
Find the words opposite in meaning in given (C) ot
items. D) —
14.  The soldier was 'Kind' : 19 TMH I AT ?
(A) peaceful (A) T
(B) helping (B) T
(C) cruel € g
(D) hate (D) gsﬂ
15.  The teacher was 'happy with the student. 20, & THw @S B & ?
(A)  sad (A) TH
B)  favour B WH
€ like € 38
(O)  pleased O 9%

CET-B:ED.-A/35.000 (4)




2. & q wemrr @iy
(A) &
(8) g
(C) A
© =
2. T R we wosRke R g
L. g gey R &1
w -
®
© !
D ¢
2. 7 ‘gl fre @ gear
N
B
B |
D |
24, A & g =woT F R AEn
g?
@ 1
B 16
© 13
O 1
6. TERTEE B e e o R ?
@ Fer-EAuE e
8 @ i
€  wo deh
© @ (A)B) & (C)

CET-B.ED.-A/35.000 (5)

% e = 7 B It @ gon
g7
A
® 8
© §=
O &«
7. e 7 e oo ¥ ‘e guet g R 7
A) A
B oW
C  eH
O) o
28. [r=foied & R o % guget @ 2
A TH
B . Y
© e

D) mHFHR
e

A) AT FH @G HA
B) G & G FW FY
(ORI
O & { AT I FY
30. wgaET ¥ R o= wrdar 2 ?
A R
B) fefear
© RE@
O fRA
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Direction :

31

32.

33.

CET-B.ED.-A/35,000

SECTION-III

qus-lll
LOGICAL AND ANALYTICAL REASONING
s ud REEes e

Study the following information
carefully and answer the
questions given below (Q.31to
34).

Six people are sitting facing the
center of a circle playing a game.
Vijay was on the left of Sudhir.
Amar was between Saurabh and
Rakesh. Neeraj was second to
Amar's left side.

Who was second to Vijay's right ?

(A) Neeraj

(B)  Rakesh

(€ Amar

(D) Saurabh

Who was between the Neeraj and Vijay,?,

(A) Rakesh
(B) Amar
(C) Sudhir

(D)  Saurabh
Who was second o Amar's right ?

(A) Sudhir
B  Viay
(C) Neeraj

(D)  Saurabh

Who was between the Vijay and Amar ?
(A) Saurabh or Neeraj

(8) Saurabh

C) Rakesh or Saurabh

D) Rakesh

p— | g—

(6)

P

33.

3 & T g H TGS
Frerg it oK 398 A ke
0 geAt & FAT dfo (SR 31
q 34)
g o Uh @9 @dd gC
uF gd A HE B ST
Iz w@ ¥ ¥ fom, v
# 9E T W S, A
A @Y B g An A,
AT %! & I GHL F T A1

Rrom & QiR oI gat & T A 1 7

(n A

®) T

€ IR

) AR

el Bem & 7= @ @ ?

(A7 T

(B) WX

© §

o)  arH

ST 3 A ST R B T A 7

(A R

® v

C) A

O

e 3l o & WEH @ o1 7

(A) AR A A

) A

© @ N A

O T




Direction :  Ineach of the following questions, 2T : Frafofad s@% ow § omd
various terms of a letter series are # H e § % &, S o
given with one term missing as T& G 3, S @ (?) arr awar
shown by (?). Choose the missing ™ R R W Rt ¥R
term out of the given alternatives & 9T 1 99T & (IIS‘;T 35 9
(Q. 35t0 38). 38)

3.  PDJ, UEE, YGA.......7....... DNV 35.  PDJ, UEE, YGA,.....2......., DNV

(A) BJX (A) BJX
B X B CxJ
© BXJ € BXJ
0) XxJB O) XJB
3. KLZ..72..., QPX, TRW, WTV 3. KLZ...7...., QPX, TRW, WTV
(A)  NMY (A)  NMY
(B)  NNY (B)  NNY
© MMy )" MMy
0  MNY D) _MNY
7. I VESEN 7. . REE 7
@ W9 a ) Ca
B MN (B) MN
(©) NM (&) NM
@ o O oL
TR e ETCIM, MIETC, CTMIE 38, winPivicsiiiey, ETCIM, MIETC, CTMIE
(®  ICMTE (A)  ICMTE
(B  ETMC B)  EITMC
@ ECTIM (C) ECTIM
D  CIMTE (0)  CIMTE

CET-B.ED.-A/35.000 (73
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Direction :

39. (A) :
(B):
(a)

(c)

(d)

CET-B.ED.-A/35,000

In éach of these questions are
given two statements (A) and (B)
These statements may be either
independent causes or may be
effects of independent causes or
of a common cause. Read both
the statements and give answer
(Q. 39)

The prices of fruits have dropped
substantially during the last few

days.

The prices of foodgrains have
increased substantially during the

last few days.

If statement (A) is the cause and

statement (B) is its effect.

If staterent (B) is the catise and

statement (A) is its effect.

If both statements are effects of

independent causes.

If both statements are effects of
some COmmon cause.

39.

(A) :

(B

(d)

9 7% 0§ (A) 9] (B) A
o B o ¥ A R A A
@A HOT & T & 4 W
FHICON 41 GET BT % IR0
g §Ha g1 A HAA W
ST FHifoTT AR FEl e H
o iforar (Fe 39)

fed #5 Rl & A &
£ dar § Wi free o
2l

fred #B R & A0 @E
A Pl § Fw gfE &
2

afe HaT (A) HIOr & AR FEA
(B) 36 T9E 2

| gRga (B)FOT & AT U

(A) IEEHT THE B

AR Fue (A) AR (B) A @A
FHON & JAE B

o FeE (A) A (B) A Rl
ER BT F 99E 2




40.

41

CET-B.ED.-A/35,000

Direction :

In each question below is given a

statement followed by two

assumptions numbered | and |l

You have to consider the

statement and the following

assumptions and decide which of
the assumptions is implicit in the

statement. (Q. 40-41)

Statement : It is desirable to put the child in

school at the age of 5 or so.

Assumptions :

l At that age the child reaches
appropriate level of development
and is ready to learn.

Il The school do not admit children
after six years of age.

(A If only assumption. | is implicit.

(B If only assumption Ilis implicit.

(o] If neither | nor 11'is implicit.

(ot} If both | and II are implicit.

Statement:

train, pull chain. Penalty for
improper use Rs. 500."
Assumptions |. Some people misuse the
alarm chain:
Il.On certain occasions,
péople may want to stop a
running train.
(A If only assumption | is implicit.
(B If only assumption 1 is implicit.
(C If neither | nor Il is implicit.

D If both | and Il are implicit.

40.

A warning in a. train gmd!
compartment - “To stop

A= Re m ode g ¥
w2 R e AR a
P B, R i 1 o
R 1 ¥ o RY T
3 3w A R 1 srpaet 3
AR X =1 % 3 9@ @
FE1 ® B Be-an s e
o 81 (v 40-41)
F : 5 91 3EH A 37 B g )
e § Ao aieg B
I -
L 3 A = ougE Rem 3
T B A FT AT & AR ey
% e o 29 ¥
I T 6 I H IH B I et By
e & gaw Té A B
(A) 3R Fo | A iR B
(B) - d it AR 2
© s A s &
D) | 3T I AT arariRa F
' A S 3
o2 =feh o
fe 500 5. Tve A
s’
AP | FB A A A
Frgfea wEr F ¥
I : %5 R st w, i
aqdl o B A% Ted
g
(A) IR P | AN SRR B
B)  aR Baw Il A srrifR B
© AT AN T iR
]
O 18T 1 3 iR ¥

[PT.O.]




Direction : In each question below are two
statements followed by two
conclusions numbered | and 1. You
have to take the two given
statements to be true even if they
seem to be at variance from
commonly known facts and then
decide which of the given
conclusions logically follows from
the two given statements,
disregarding commonly known
facts. (Q. 42-43)

42.  Statements : 42,
All Rats are Cat.

All Cats are Dog.
Conclusions :
. Some Dogs are Rat.
i Some Dogs are Cat.
(A) If only conclusion | follows
B) If only conclusion |l follows
(C) If both | and |l follows
(D) If neither | nor Il follows
43, Statements : 43.

CET-B.ED.-A/35.000

All Hens are Bird.
Some Goats are Hen.

Conclusions :

l. Some Goats are Bird.

i. All Hens are Goat.

(A) If only conclusion | follows
(B) If only conclusion II follows
(©) If both | and |l follows

(D) If neither | nor |l follows

(10)

T R T g § & R A
& s | ol RY W
FoEl B T A99 gL, 9 9
T T | e & /i A 8
a7 fofa it 76 R T Fepd
% - Frepd R @ F
% ST GT e & ¥ e
Bl (oo 4243 )

gl @ i 8
a fafeerdl 9 2

PR T
5B . [l 8l

i Bge | FeRy T 2
o Baw || Pt qebaTa
o | oy I AR FEHET
afE | 3 |1 1 FebET T 8

%8 aHdl gl 2

o Paw | Pl qeeTa Bl
i g || Frepd qebeTa 2l
afz | 3l 11 BN T B
A | & 1| AT qebaTd T




45.

The frain for Patna leaves every woand 2~ 44. 7% Rl W& R ¥ 10% o g
half hours from New Delhi Railway Station, T e & e 39 geed ¥ 9 e
An announcement was nfade at the station RIM X 0 AT &t X B ge B
that the train for Patna had left 40 minutes RiT 40 e od o 39 g8 4t ai
ago and the next train will leave 18.00 hrs. SPTR 297 1£:00 &5 g 7@ IgEmoT
At what time was the announcement e a5t ¢ ot ?
made ?

&)  16.10hrs.
(A) 16.10 hrs.

®  17.45hs
B)  17.15hs.
€ 1530 hrs, : € 1530 Hs.
D) 1515 hrs. @  15.15hrs.

In a class of 60, where boys are twice that 45, 60 B T O wEH A
of girls, Reena ranked seventeenth from i R E NG R C
top.IfﬂmreareQboysaheadofRea aglﬁMMQ@
how many girls are after her in rank ? . feberit eTefrar ¥ ?

A 12 (A) 18
® 13 B 13
€ 3 © 3
@ @& O . 2

CET-B.ED.-A/35.000 (1) [P.T.O.]




Direction :

(@)

(b)

()

(d)

(e)

U)

(A)
(B)
©)
©

Study the following information
carefully and answer the questions
given below : (Q. 46. to 49)

Five persons - A, B, C, D and E
participated in a quiz contest.
One is master of sports, one is
master of current events and one is
master of art and culture.

A and D are unmarried ladies and
do not hold command in any
subject.

E is the husband in a married
couple.

B is the brother of C and is neither
master of current events nor art and
culture.

None of the ladies has command
over current events and sports.

Who is the master of Current Events 7

E
C
D
A

47.  Who is the master of Sports ?

(A)
(B)
©
©)

A
B
C
"

48. Who is the master of Art and Culture ?

(A)
(B)
)
©)

E

D
C
B

CET-B.ED.-A/35.000 (1

46.

47.

48.

(@)

Frefefae gammall & SteRe
7, B A gt F FH AP
: (. 4649 )

e ufedfiien # qig &, A, B,
Cc.D alx E sferh &

uF S B AR, TH INEH
geal # ARET AR TH FAA

AR Gl B AT B

© A alT D afarfed Afged & AR
I Tae Bt oft R 3§ w8
Bl

@) E fafed 3 & 9 B

) B,C @ W& ¥ AT AN ek
geall & AR & AR A #
Fal AL G F

O P W i, o gl
A w AR @ W S
Sridkecr &

S TS W AR B 8 ?

A__E

(B)gu C

(CyD

O A

& F AT DA 8 ?

A A

B B

) 2

O D

el TGP T AT B @

Ay E

® D

v

P 8




49 Who is the wife of E ?

nN A
B B
0 ¢
© D

Direction For the Assertions (A) and Reasons
(R) below, choose the correct
alternative from the following : (Q.
50-51)

0. Assertion (A) : Beri-Beri is a viral infection.

Reason (R) : Vitamin deficiency causes

diseases.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

9 ERNGhamd?

(A)

(B)
©

(A)

B)

(R) et ot it & i
s i

(W) R R) A 5 &, e (R,
(A) B TE W

(A) ST (R) &5 T % R (R)
(A) = &3 Tt T g

©  (A)istrue but (R) is false g (R) e
O (A)isfaise but (R)is true a g (R) & B

51.  Assertion (A) : River Narmada flows
westward. |

Reason (R) : Narmada falls into the Bay of
Bengal.

(A)  Both (A) and (R) are true and (R)is
the correct explanation of (A)

(B)  Both (A) and (R) are true but (R)is
not the correct explanation of (A)

€  (A)is true but (R) is false
©)  (A)is false but (R) is true

CET-B.ED-A/35.000 (13)

(A)

B)

©
©)

SR : (A) TR T R @ e
B4 qmN TG B

(R)mwﬁmﬁaﬁw
¥ fireht &)

(A)mm)aﬂmtﬁﬁgm
(R), (A) & G& wedayor &)

®) SR R) A T ¥ Ry
(R),.(A) ¥ e erdieprer 18 &

(A) ¥ B R (R) 7o B
(A) T & Ry (R) & B
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Direction :

52.

53.

CET-B.ED.-A/35,000

Each question given below has a
statement followed by two courses
of action numbered | and Il. You
have to assume everything in the
statement to be true, then decide
which of the two suggested courses
of action logically follows for
pursuing. (Q. 52-53)

Statement : School uniform is a burden on
the poor parents.

Courses of Action :

l. Poor parents should stop buying
school uniform.

II. Schools can provide subsidy on
school uniforms.

(A) if only | follows

(B) If only |l follows

(C) If neither | nor Il follows

(D) If both | and || follows.
Statement :

School dropout rate is very high i the rural
areas as children support their parents in
income eaming activities.

Courses of Action :

l. Public Awareness programme on

" primary education should be

_ expanded immediately to educate
parents.

Il Compensation is not a remedy.
(A) If only | follows

(B) If only Il follows

(C) If neither | nor Il follows

D) If both | and |l are follows

(14)

R |
9 : 4
191

B
g, |l I AT FEEed
H 2l
: ﬁﬂ@@!ﬁﬁﬂ
| aﬁﬁ%,aﬁfﬁiaémaﬁﬁ
ﬂﬁgﬁﬁﬁmw—ﬁww
|

) - & Qe B & e
geiftes fOEm 9v SH-SIRER
FHT F1 o fawar fer S
e

I HeTEST T 39 Tl B

(A) R, Faw FAAR! | STET B

2l
(B) gﬁ,aﬂamalé’fuaﬁamm
|

G,

H

44

3
(-%}

1




Directions :  Each question given below has a
statement followed by two
conclusions | and II. Consider the
statement and the following
conclusions and decide which of
the following conclusions follow the
statement. (Q. 54-55)

54, Statement :

Sick people need medicine.

Conclusions :
Healthy people do not need
medicine.

Il People keep medicine in their
home.

() If only conclusion | follows

B) If only conclusion Il follows

) If neither conclusion | nor Il follows
D) If both conclusiens | and Il are
follows
55. Statement :
The increasing population of our nation will

rasources.

54,

55.

l2ad to depletion of many essentiaa

Conclusions :

| Population of our nation can be
controlled.

I The nation will not be able to
provide a .decent living to its
citizens.

(A) If only conclusion | follows

(B) If only conclusion 11 follows

(C) If neither conclusion | nor I follows

() If both conclusions | and Il are
follows

CET-B.ED.-A/35.000 (15)

e R R R o § o
o AR A Frept | ol
FI9 U§ TH W AR &Y g8
Pl & 5 B-ar Pt Fuw
& e 2 B (vt 54.-55)

T : MR A B ogEr B oore B

frene -

] @ A B qEr B T T8
{

I 0T uY W gar ey B

C A 3R, Faw et | P

B) 3R, Faw Frepd || P
© 3R, T Freed | T & e
feperar B
@) o e L AR 1 P
2l
| B T %t gl e ¥ 7R
i % B B

g I o # Ry
frar s e B
I g o AR # o I
wHie 929 & F wEw @ 2
A) 3R, Paw Frepd | P B

(B) AR, Faw Fewt o P B

© 3R, 7@ Frepd | 7 & fresd )
Freperar 21

O IR, A P | olv 1) e
-

[P.T.O.]




SECTION - IV

gE -V
General Awareness
R SR
56.  Where "tomb of Humayun" is located? 56.  “EAIY H WAl FE R @7
(A)  Agra (A) ST
(B)  Lahore B) @R
(C)  Delhi © R
(D)  Ajmer D) 3P
57.  Who started "Din-i-elahi*? 57, “dF-u-gamer” BRee O e
(A)  Akbar (A) RS
(B) Aurangzeb (B) S EU N G
(C)  Jahangir )  TEFR
(D) Babar D) EIEES
58. In which year the first battle of Panipat was 58 Mg S JS F9 TSl ™ qr?
fought ? (A) 1520
(A) /1520
B) 152
B) 152
(©) 1532 (C) 1532
(D) 1626 D) 1626
59.  Who wrote "Humayunama"? 505w R e 27
(A) Gulbadan Begam (A) etere &\
()  Humayun B) &g
(C) Abul Fazal (®) HIA Hore
(D) . Noorjahan 0) T
60.  Where Mahavir was born? 60.  WEWIT P ST Fel g o ?
(A)  Vaishali (A) a9l
(B) Kundgram (B) RSAH
(C)  Kashi ' © el
(D)  Kapilvastu () N 7 R LS
61.  Which one is the first Veda? 61.  @iF-a1 yoH A5 87
(A) Samveda (A) LILCCY
(B)  Yajurveda (B) H’Jﬁ’ﬁ’
(C)  Atharvaveda €  omdag
(D)  Rigveda D) FER

CET-B.ED.-A/35.000 (16)




62 In which year Bengal was divided? 62 S & fawe fw ay gam wr?

@ 1904 (A) 1904
B) 1905 B) 1905
©) 1906 € 1906
O 1907 0) 1907
3. Who initiated Champaran Movement? 63.  EENY SEIeH (e oY fHar?
@A) M K Gandhi &) A . T
B) M M. Malaviya (B) UH. UH. HAEA
€)  Gokhale C) e
D) Rajendra Prasad (D) % 749158
84.  Inwhich year Indian National Congress was ~ 64.  WIRGId TSI & 1 o= e ad
iounded? ﬁ?
A) 1880 (A) 1880
B) 1884 (B) 1884
IC) 1885 (C) 1885
D) 1890 “ D) 1890
85.  Birsa Munda(is related to which state? 65 pnlelRT B8l 5T e 2 e €7
(A)  Bihar , A R
(B) / Jharkhand | (
(C) " Odisha a ( E
(D)  West Bengal 0)  qf¥=m &
66.  Who has written Gitanjali ? 66. ol @ T BhE & 27
(A) R N. Tagore (A) AT TH. EM
() M. K. Gandhi B) . &. Tt
(C)  Mahadevi C) Hewrel
(D)  Sri Aurobindo 0 &t IRiE=
67.  Whois the Chief Minister of Bihar? 67. fER @ gerE B 87
(A} Nitish Kumar (A Tt AR
(8)  Arjun Munda (B) T gUSI
(C)  Sushil Modi © gifmw "
(D) Lalu Yadav (D) SINERICE
CET-B.ED.-A/35.000 (17) [P.T.0.]




68.

69.

70.

.

72.

73.

What is the capital of Mizoram?
(A) Gangtok

(B) Aizol
(C) Guwahati
(D) Imphal

What is the capital of Uttar Pradesh?
(A) Lucknow
(B) Agra

(9] Patna

(

D) Varanasi

Patna is situated at the bank of which river?

(A) Kosi
(B) Ganga
(C) Gandak

(D) Ghaghra
Taj Mahal is located in which city ?
(A) Lucknow

(B) Ranchi

(C)  Rajgir

(D) Agra

Which is known as the pink city?
(A) Bhopal

(B) Chandigarh

(C) Jaipur

(D) Ahmedabad

Who is the Chief Minister of Delhi?
(A) Manoj Tiwari

(B)  Arvind Kejriwal

(C) Nadda

(D) Rajnath

CET-B.ED.-A/35,000
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68.

69.

70.

72,

173.

el &t e B 27
(A)  TeRR

B) e

€ e

0)

I W39 $ O B 7
A)  TETS

B) P

€ e

O) o

qe g w6 & qe X fum ®7
n B

(B) W

© TEH

[(0) IR

arwEe gt ¥ feg ¥?
A)  TETH

| =

(Gl | T

Oy

et T R Fed

(A)

@ =@

€ Ay

D)  RHEEE

Reetl #1 el B &7

(&) N foard
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74.  Kosi river is in which state ? 74, FE T e oy R

A) UP @ g4
B) MP B) ..
(C)  Punjab € U
(D)  Bihar O fEr
75.  Whatis the capital of Nepal? 75. AU H TOEF B BC
(A) Kathmandu (A) PIEFG
(B) Pokhra (B) e
(€)  Mithila © i
(D)  Janakpuri 0 gl
76.  Who is known as the ‘father of computer?  76.  H*HET H D B eper o B 7
(A) Pascal (A) RIS
(8)  Hollerith B) 2Ry
(C) Newman (C) ﬂc{ﬁ?
(D)  Charles Babbage D). 9Fd F99
77.  India: Rupee : : Bangladesh : ? 7.0 4RE © @A SR 2
(A) / Frenk heh
y « ER @ =
(€  Leera B
0  Dollar ﬂ H a;
78, Myopia : Eye : : Meningitis : ? 78.  wrAEr ;e : : Aol ¢ ?
(&)  Kidney ® T
(B)  Brain B)  HRT=
(C)  Lungs C P
D)  Liver () 1
79.  Which is part of the earth ? 79. @i G AR B ?
(A) Atmosphere (A) qIgHuST
(B) Hydrosphere (B) SeHISH
(C) Lithosphere )  TwHOSH
O)  All(A), (B)and (C) 0) @ (A), (B)T (C)

CET-B.ED.-A/35.000 (19) [PT.O]




80.

81.

82.

83.

84.

CET-B.ED.-A/35.000

The Dbiosphere of the earth

includes

(A) Atmosphere

(B) Hydrosphere

© Lithosphere

D) Al (A), (B)and (C)

A place on the earth can be shown with help

of

(A)  Latitude

(B) Longitude

(® Both (A) and (B)

O)  None (A)and (B)
What is the capital of Bihar ?
(A) Ranchi

(B) Bhagalpur

©

(D) Gaya

Patna

Who is the governor of Bihar ?

(A)  Nitish Kumar

(B) Phagu Chauhan

(© Ramnath

D) Anandi Ben

In which state Dr. B. R. Ambedkar was born?

(A) Madhya Pradesh
(B) Maharashtra
(C) Bihar

(D) Jharkhand

(20)
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85. Fandit Deen Dayal Upadhyay belonged to
which political party ?
(A) Congress
(B)  Jansangh
€ BSP
® SP
86. Who is the writer of the book 'Agni Ki Udan'?
(A)  APJ Abdul Kalam
(3) MK Gandhi
()  JL Nehru
(D) Mahadevi
87. Which article in the Indian constitution is
related to imposition of President's rule in
states ?
(A) 352
(8) 356
© /350
©) T 348
88.  Who is the president of India ?
(A) Amit Shah
(B) Ramnath Kovind
© Vainkaih Naidu
@) L K. Advani
89.  Which instrument measures eqrthquakes ?
() Seismograph
B) Barometer
C) Manometer
D) Ameter
CET-B.ED.-A/35.000
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90.

91.

92.

93.

%4.

95.

CET-B.ED.-A/35,000 (22

Which one is the biggest ocean on earth ?

(A) Pacific
(B) Arctic
(C) Indian
D) Atlantic

Which gas is mainly responsible for ozone
layer depletion ?

(A) SO,

(B) Co,

(C) CFCs

(D) NH,

Jakarta is capital of which country ?
(A) Malaysia

(B) Indonesia

(C) Thailand

(D) Mauritus

Which ocean lies to the west of India ?

(A) Arabian Sea

(B) Bay of Bengal

(@) Indian Ocean

D) None

Who is the present defence minister of India?
(A) Rajnath Singh

(B) Amit Shah
(C) V. K. Singh
D) Ravi Shankar

R. T. E. Act, 2009 has been implemented
from which year ?

(A) 2009
(B) 2010
© 201
0) 2012

90.

91.

92.

93.

Frfafea # gedt & @9 981 9K
B 7

(A) SR

B)  IMHieH

C =

D)  SAedile®

FAT G &1 for e PR
PR

A) SO,

8) €O,

€) . ‘GFCs

0)  NH,

St e 29 # o g ?

(A)  HfEr

(B)  FSMRM

€) _ 4RA"S

O)  -Hie

AR % qivEs § B | ax Rea @ 7
(A)  TE WK

@)y TR B @
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SECTION-V / @8-V
Teaching Learning Environment in Schools

fewdl § Reor @ oam @ oRdw
9. Which of the following is the greatest 6. U fEme g W &%) wwen A &

oroblem for a school ? g7

A)  Lack of finances A O a@ w

'B)  Lack of good infrastructure ) ol SRS e #
(C)  Lack of good teachers C) . o7 e P FH

D)  Lack of students continuously O  fEmE i s 9 A
97.  Which is the greatest quality of student for  97.  SIfeFM (ie) 2 femdt &1 qad T
learning ? TR 7
(A)  good memory (A) STt g
(B)  good communication ability B) T AT &l
(C) hard work to leam (C) drga %g Hied 49
(D) curiosity to leam O) i 2 s
98.  Which one is not the quality of a good 98.  IN-T1 U 3rd Fremer b oy 7E 2 ?
school ? A oot gt 5 ey

(A) Teaching of all subjects

(B) Enmfc?m Uq Fdg dEe @
(B) Conduction of debates and essay

writing
© 4 Noerganization of games Sl ‘3*"‘"‘"‘“ T T
(D) Well developed laboratories a STARTTIEATS
99.  Which of the following is not an example o ﬁ'ﬂﬁﬂ F e
physical infrastructure of a school ? HTE P JEBTT E B 7
(A) Playground (A) ad # N
(B) Building (B) Ha+q
(C)  Laboratories €  vANgTEn
(D) Librarian D) SIESIEOR
100.  The educational institution with no barrier of  100. v Rerr & & o ¥ 9w @
age of study is termed as ........ : Pig F8 Al B, W ....... e Bl
(A)  Free institution of education (A) R H Faes den
(B)  Closed institution of education B) Fwmm # T Gewr
(C)  Evening institution of education C) e i ariERT e
(D)  Open education institution O) Gt Jmw A Her
CET-B.ED.-A/35.,000 (23) [P.T.O)]




101.

102.

103

104,

CET-B.ED.-A/35,000

What is the duration of higher secondary

education ?

(A) 4 years
(B) 3 years
(C) 2 years
(D) 1 year

Which is not desired in schools ?
(A) Regular attendance

(B)

(C) Corporal punishment
(D)

Good conduct

Awards
Which is a responsible cause of growing

indiscipline in schools ?

(A) Economic difficulty

(B) Lack of leadership by teachers
(C) Intervention by parents

(D) Growing aspirations

Which of the following is most effective for
promotion of learning, @mong gsehiool
students 7 '
(A) Lecture

(B) Dictation

(C) Guided activities

D) Pictures

Which is not the part of co-curricular activities

in schools ?
(A) Debates
(B Music and song competitions

(C

)
) Class lecture
(D)

Drama

(24)
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106.  Primary school is a term used for which  106. h8 FaT WY & R ‘waNEs HEEa’

class level ? = FH IE G o & ?
(A) Class |- VIll (A) & - Vil
(B) Class | - X (B) HEm |- X
(C) Classl-V € FEI-V
D) Nursery classes (D) FEE FEQ
107.  The bestway to teach a concepttostudents  107. Rl & B T el & gad
is to proceed from ........ . . B TOH ........ & T e 2l
(A)  Difficult to simple (&)  FeAT ¥ "W
(B)  Known to unknown (B) & § 3E
(C)  Unknown to known €  ENd | S
(D)  Abstract to concrete O o F W
108.  The duration of secondary educationin India  108. 9T ¥ Areafres fmm @ s@fr ...
s year. ag B
A 02 A 0
B 04 B 04
(C) 06 ©) & G
D) 05

109. The most potent reason of student 109,

indiscipline in schools is ; a
A) Absenteeism of teachers

(

(B) Absenteeism of students

(C) Non-completion of course

(D)  Non-involvement of students in
activities

110.  Which one is most important for a teacher ?  110.
(A) Expertize in subject content
(B) Expertize in teaching skills

(C) Rapport with students

(D) Good health

CET-B.ED.-A/35,000 ( [P.T.O.]
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1.

12

113.

114.

115.

CET-B.ED.-A/35,000

A semester consists of ______ month
duration.

(A) 04

(B) 03

€ 06

(D) 05

Which one is not an element of positive

learning environment ?

(A) Motivating the learner

(B) Creation of interest

(C) Control by force

(D) Planning activities

N.C.C. belongs to which of the following in
school ?

(A) Curricular activity

(B) Co-curricular activity

(C) Army activity

(D) Service activity

Which one is not a literary activity ?
(A) Essay writing

B NSS.
(C)  Debate
0  Quiz

If students make noise in the class, they
should be

(A) Punished
(B) Beaten
(C) Sent out

(D) Engaged in activity

m.

112.

113.

14.

15.

(A) 04
(B) 03
©) 06
(D) 05

e S (HeEs @) afas &
o B el & ¢

) dET 9 B ARERT BN
(B) B ® GO HCN

€  awgEs

0 Tt @ R

e § wa. @1 o it st
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116.

"7

118.

119.

120.

CET-B.ED.-A/35.000

Which of the following is major cause of
decreasing ethical standards in the society ?
(A) Educational policy failure

(B) Poverty

(€ Lack of schools

(D) Lack of good teachers

Which is not part of 3R's ?

(A) Speaking
(B) Reading
(©) Writing

(D) Arithmetic

Which is related to education of deaf &
dumb ?

(A) Braille

(B) Sign language

(C) Brailler

D)  All(A), (B)and (C)

Which néw term has been coined for
students who are deaf & dumb, blind or lac

some abilities ?

(A) Special Need

(B] Divyang

(C Included

D None of the above

Which one should be followed by a good
teacher in a class ?

(A Teach fast learners

(B) Teach mediocre leamers

(C Teach slow learners

(Dy Teach (A), (B), (C) together

(27)
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10.

1.

This Question Booklet contains 120 multiple choice questions. Each question (except questions of
General Sanskrit and General Hindi Comprehensions) is printed both in English and Hindi. Each
question has four (04) probable answers, out of which, only one is correct. You will have to select
the correct answer and mark it on OMR Sheet at the space provided for it. In case you feel that there
is more than oné correct answer, mark the answer which you consider the most appropriate. In any
case, choé‘se; ONLY ONE answer for each Question.

zq we-gRaa § 120 gfeeda g R T e (A R S | e @
sedt r Breav) ued 1 st A R At § e T B g ST @ A Hfee I
R T B o @ Baw O 6T A g §, PR 379 Y- (OMR Sheet) R 3 7w
v i 2% AR enud e o B R 0T 3 o & s I &8 E, |t 98 I
2 e F S I T ITgE T e we @ R 39 o @ SeR I B
You have to mark all answers only on the OMR Answer Sheet provided. See directions on the OMR
Answer Sheet to fill your answer

ST GO G I ofe & Ry T -0 (OMR Answer Sheet) O 81 S T Bl
FA-T3% (OMR Answer Sheet) § gy I¢ b FH & T A e 34

Each question carries equal mark.

T T B $iF T ol

Sheets for.rough work are appended at the end of your Question Booklet

F= (Rough) @@ & o wosi-gR<E % 3id H T @ &

Béfore you proceed to mark in the OMR Answer Sheet the answers to various questions in the
Question Booklet, you have to fill in some pafficularsfip the OMR Answer Sheet as per instructions
sent to you with your Admit Card,

ool e Fh G ST Gt T R NSk (OMR Answer Sheet) T
S5 HET IE FX, ST -0 & T A SR $ PR T S (OMR
Answer Sheet) § 3 R

There is no negative marking for the wrong answers in the examination.

e § T SOl B R RO i e 8

After you have completed filling in all your answers on the OMR Answer Sheet and the examination
is over, you should hand over only the original OMR Answer Sheet to the invigilator. You are
oermilted to take away the Question Booklet and second copy of OMR Answer Sheet with you.

ST TR At I @ I (OMR Answer Sheet) § W & A& TR & FAI T
F-H (OMR Answer Sheet) 31 3w §w i des B da i omH FW A
q9I- R T FAT-TH (OMR Answer Sheet) 1 ZEeY ST o N T

This Examination is governed by Bihar State Examination Act, 1981. All cases of unfair means will

be dealt with as per this Act.
7% Tl e 1o e SRfEE, 1981 2w AR @) FEFER q graa ol aHar B
zq s Er fid B s




